


Evaluate the following 

31) 2 =

22) 3 =

43) ( 2)− =

44) 2− =



Product of Powers Property 

2 3a a•

3 4m m•



7 81) a a•
5 92) f f•

2 33 5 5•)

43 34
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   

)

2 35 • •) x x x

The Product of Powers Property: 

To multiply powers with the same base ________________ 

______________________. 



7 86 5 8) ( )( )m m

4 3 2 67 7 4−) ( )( )x y x y



Power of Powers Property 

2 3( )n

7 5( )c



2 36 5) ( )

3 47) ( )x

4238
4

    
   

)

649 8 − ) ( )

The Power of Powers Property: 

To find a power of a power  _________________________ . 



Power of Product Property 

4 32( )d

2 34( )m−



4 310 5) ( )d

7 211 8−) ( )d

2 5 312 3−) ( )x y

813 24 13•) ( )

The Power of Products Property: 

_______________________________________________ 

_______________________________________________ . 

 



2 714 5 5− −) ( ) ( )

3 415 6) ( )

416 3•) ( )x x

617 2−) ( )d
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